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QUESTION 1

You are developing a SQL Server Integration Services (SSIS) package that imports data into a data warehouse hosted
on Microsoft Azure SQL database. The package uses a Foreach container to process text files found in a folder. The 

package must be deployed to a single server by using the Project Deployment model. 

Multiple SQL Server Agent jobs call the package. Each job is executed on a different schedule. Each job passes a
different folder path to the package. 

You need to configure the package to accept the folder path from each job. 

Which package configuration should you use? 

A. .dtsConfig file 

B. Registry Entry 

C. Environment Variable 

D. Parent Package Variable 

E. XML Configuration File 

Correct Answer: C 

References: http://msdn.microsoft.com/en-us/library/ms345179.aspx http://msdn.microsoft.com/en-
us/library/ms141708.aspx http://msdn.microsoft.com/en-us/library/hh213214.aspx http://msdn.microsoft.com/en-
us/library/hh213296.aspx http://msdn.microsoft.com/en-us/library/hh213293.aspx 

 

QUESTION 2

You develop a SQL Server Integration Services (SSIS) package that imports SQL Azure data into a data warehouse
every night. 

The SQL Azure data contains many misspellings and variations of abbreviations. To import the data, a developer used
the Fuzzy Lookup transformation to choose the closest-matching string from a reference table of allowed values. The 

number of rows in the reference table is very large. 

If no acceptable match is found, the Fuzzy Lookup transformation passes a null value. 

The current setting for the Fuzzy Lookup similarity threshold is 0.50. 

Many values are incorrectly matched. 

You need to ensure that more accurate matches are made by the Fuzzy Lookup transformation without degrading
performance. 

What should you do? 

A. Change the Exhaustive property to True. 
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B. Decrease the maximum number of matches per lookup. 

C. Change the similarity threshold to 0.85. 

D. Increase the maximum number of matches per lookup. 

Correct Answer: C 

 

QUESTION 3

You are completing the installation of the Data Quality Server component of SQL Server Data Quality Services (DQS). 

You need to complete the post-installation configuration. 

What should you do? 

A. Run the dbimpexp.exe command 

B. Install the data provides that are used for data refresh 

C. Run the Data Quality Server Installer 

D. Run the Configuration component in the Data Quality Client 

Correct Answer: C 

After you complete the SQL Server installation wizard, you must perform additional steps mentioned in this section to
complete your Data Quality Server installation, configure it, and then use it. 

To complete the Data Quality Server installation, run the DQSInstaller.exe file. 

References: http://msdn.microsoft.com/en-us/library/gg492277.aspx http://msdn.microsoft.com/en-
us/library/ff877917.aspx 

 

QUESTION 4

You are designing a SQL Server Integration Services (SSIS) data flow to load sales transactions from a source system
into a data warehouse hosted on SQL Azure. One of the columns in the data source is named ProductCode. Some of
the data to be loaded will reference products that need special processing logic in the data flow. 

You need to enable separate processing streams for a subset of rows based on the source product code. 

Which data flow transformation should you use? 

A. Audit 

B. Source Assistant 

C. Script Task 

D. Conditional Split 

Correct Answer: D 
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We use Conditional Split to split the source data into separate processing streams. 

A Script Component (Script Component is the answer to another version of this question) could be used but this is not
the same as a Script Task. 

References: http://msdn.microsoft.com/en-us/library/ms137640.aspx 

http://msdn.microsoft.com/en-us/library/ms141150.aspx 

http://msdn.microsoft.com/en-us/library/ff929138.aspx 

http://msdn.microsoft.com/en-us/library/ff929116.aspx 

 

QUESTION 5

You are creating a SQL Server Integration Services (SSIS) package that implements a Type 3 Slowly Changing
Dimension (SCD). 

You need to add a task or component to the package that allows you to implement the SCD logic. 

What should you use? 

A. an Execute SQL task that executes a MERGE statement on the database 

B. an Aggregate component 

C. a Merge Join component 

D. a Data Conversion component 

Correct Answer: C 

Type of Slowly Changing DimensionsSlowly Changing Dimensions are categorized into three types named: Type 1,
Type 2, and Type3. The Type 1 SCD does not maintain the history of changing attributes, it overwrites values of the 

attributes. Type 2 maintains historical values for changing attributes. Type 3 that we do not use much maintains
separate columns for changed attributes. SSIS SCD wizard supports both Type 1 and Type 2. 

Using MERGE instead of SCD wizardReplacement of SCD wizard with MERGE is not a straightforward technique. If the
SCD has both Type 1 and Type 2 types attributes, they need to be handled separately. 

References: https://docs.microsoft.com/en-us/sql/integration-services/data-flow/transformations/slowly-changing-
dimension-transformation?view=sql-server-2017 
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